
LO
O

K
S

 G
O
O
D, PERFORMS BETTE

R 

STON SHAFT MOUNTED GEARBOX



CERTIFICATONr. 50 100 1185 - Rev.010
Si attesta che / This is to certify that

IL SISTEMA QUALITÀ DITHE QUALITY SYSTEM OF

MOTIVE S.r.l.
SEDE LEGALE E OPERATIVA:REGISTERED OFFICE AND OPERATIONAL SITE:VIA LE GHISELLE 20IT - 25014 CASTENEDOLO (BS)

È CONFORME AI REQUISITI DELLA NORMA
HAS BEEN FOUND TO COMPLY WITH THE REQUIREMENTS OFUNI EN ISO 9001:2015QUESTO CERTIFICATO È VALIDO PER IL SEGUENTE CAMPO DI APPLICAZIONE
THIS CERTIFICATE IS VALID FOR THE FOLLOWING SCOPEProgettazione e fabbricazione di motori elettrici, riduttori

meccanici e inverter (IAF 18, 19)Design and manufacture of electrical motors, mechanical gearboxes 
and variable speed drives (IAF 18, 19)

Per l’Organismo di CertificazioneFor the Certification BodyTÜV Italia S.r.l.
Validità /Validity

Dal / From: 2019-03-19
Al / To: 2022-03-02

Data emissione / Issuing DateAndrea CosciaDirettore Divisione Business Assurance
2019-03-19PRIMA CERTIFICAZIONE / FIRST CERTIFICATION: 2001-07-20

DATA DI SCADENZA DELL’ULTIMO CICLO DI CERTIFICAZIONE: 2019-03-02
EXPIRATION DATE OF THE LAST CERTIFICATION CYCLE: 2019-03-02

“LA VALIDITÀ DEL PRESENTE CERTIFICATO È SUBORDINATA A SORVEGLIANZA PERIODICA A 12 MESI E AL RIESAME COMPLETO DEL SISTEMA DI 

GESTIONE AZIENDALE CON PERIODICITÀ TRIENNALE”

“THE VALIDITY OF THE PRESENT CERTIFICATE DEPENDS ON THE ANNUAL SURVEILLANCE EVERY 12 MONTHS AND ON THE COMPLETE REVIEW OF 

COMPANY'S MANAGEMENT SYSTEM AFTER THREE-YEARS”

VISIT AND KNOW MOTIVE THANKS TO THE MOVIE ON WWW.MOTIVE.IT



INDEX

technical characteristics pag. 2-3
 

List of components ston 
2 reduction stages pag. 4-5

List of components ston 
3 reduction stages pag. 6-7

code system pag. 8
Lubrication pag. 9

technical data pag. 10
configurator pag. 11

performance table pag. 14
dimensions pag. 15

performance table pag. 12-13

dimensions pag. 16



 tecHnicaL cHaracteristics

uniquely contoured, rigid, 
precise, monobloc, cast iron 
Body, Base and flange ensure 
extreme robustness. 

registered design

2 or 3 reduction stages 
inside the same body, 
in order to have a wider 
and more reliable range 
of ratios

a modular design with detachable 
output flange and integral feet permits 
the easy and fast conversion between 

flange or foot mounting

versatile

robust

2



3

unique construction of ston ma-
kes it possible  to mount any size 
in any position.   
this flexibility is achieved by:

+ ZZ autolubricating bearings on 
input and output shaft

5 interchangeable plugs, including 
one breather plug and a level plug
please note that the vent plug 
also allows you to reduce the 
internal pressure on seals, and 
thus increases the efficiency of 
the gearbox

+ mechanical parts locked in 
their positions by snap rings.this 
also ensures better absorbtion of 
axial thrust and prolongs the life 
of bearings

iec flange and hollow 
shaft.

choice of hollow input 
flanges permits direct 
mounting of any stan-
dard motor 

use of high strength steels and case hardening to 58 
±2 Hrc reduce the wear rate in wheels.
all wheels are profile ground to din 3962 class 6 
accuracy for low noise and high efficiency.

single stages ratios between 2 and 6, together with 
proper gears sizes, result mathematically in higher 
teeth number and size (module) of each wheel and a 
better fractioned load among the reduction stages. 
that influences both durabilty and torque transmission 
capability

shafts are made from 42crmo4 steel and tempered 
to reach a hardness of 23-35 Hrc, thus increasing 
their capacity to withstand shearing stresses.

dual bearing support on the input shaft assures 
precise alignment of the first stage gears and reduces 
vibrations and consequent gear wear

abounding bearings size

f
l
e
x
ib

l
e
 m

o
u
n
t
in

g

if the mechanical robustness and the service factor of 
an helical gearbox are mainly influenced by the centres 
distance of the last stage, ston confirms to be very 
robust (see "X2" at page 16)

3

e
n
g
in

e
e
r
e
d
 f

o
r
 h

ig
h
e
r
 r

e
l
ia

b
il

it
y



42

02

46

0445

43

32

11
18

28

03

23
19

22

40
38

23

39

33

21 27

47

35
12 20

41 49

36
06

31

24

14

05

32

32

17

8
44

13
07

29

29

01

34

List of components STON 2 reduction stages

4



STON 3 STON 4 STON 5

1
2
3
4
5
6

7
8
11
12
13
14
17
18
19
20
21
22
23
24
32
33
34
39
40
44
45
49

LIST OF COMPONENTS STON 2 REDUCTION STAGES

art. code description q.ty code description q.ty code description q.ty

HOUST3 housing 1 HOUST4 housing 1 HOUST5 housing 1
ISHDM..ID..RB25 input shaft 1 ISHDM..ID..RB30 input shaft 1 ISHDM..ID..RB35 input shaft 1
OSHST3 output shaft 1 OSHST4 output shaft 1 OSHST5 output shaft 1
ICVES3 input cover 1 ICVES4 input cover 1 ICVES5 input cover 1
TCVES3 adapter cover 1 TCVES4 adapter cover 1 TCVES5 adapter cover 1
IFL63B5RB25
IFL71B5RB25
IFL8090B5RB25
IFL100112B5RB25

input flange 63B5
input flange 71B5
input flange 80/90B5
input flange 100/112B5

1
IFL71B5RB30/35
IFL80B5RB30/35
IFL100B5RB30/35

input flange 71B5
input flange 80/90B5
input flange100/112B5

1
IFL71B5RB30/35
IFL80B5RB30/35
IFL100B5RB30/35

input flange 71B5
input flange 80/90B5
input flange 100/112B5

1

P1Z..D..ID.. pinion first stage 1 P1Z..D..ID.. pinion first stage 1 P1Z..D..ID.. pinion first stage 1
G1Z..D..RB25 gear first stage 1 G1Z..D..RB30 gear first stage 1 G1Z..D..RB35 gear first stage 1
P3Z..D..ST3 pinion third stage 1 P3Z..D..ST4 pinion third stage 1 P3Z..D..ST5 pinion third stage 1
G3Z..D1..ST3 gear third stage 1 G3Z..D1..ST4 gear third stage 1 G3Z..D1..ST5 gear third stage 1

BEA6008ZZ bearing 6008ZZ 2 BEA6009ZZ bearing 6009ZZ 2 BEA6009ZZ bearing 6009ZZ 2

BEA72022RS bearing 72022RS 1 BEA73032RS bearing 73032RS 1 BEA73042RS bearing 73042RS 1
BEA73022RS bearing 73022RS 1 BEA73032RS bearing 73032RS 1 BEA73042RS bearing 73042RS 1
BEA6009ZZ bearing 6009ZZ 1 BEA6010ZZ bearing 6010ZZ 1 BEA6211ZZ bearing 6211ZZ 1
BEA6009ZZ bearing 6009ZZ 1 BEA6010ZZ bearing 6010ZZ 1 BEA6211ZZ bearing 6211ZZ 1
COVD35 plug seal D35X5 1 COVD35 plug seal D35X5 1 COVD40 plug seal D40X8 1
COVD42 plug seal D42X6 1 COVD47 plug seal D47X7 1 COVD52 plug seal D52X7 1
OS45X75X8 oil seal 45x75x8 2 OS50X80X10 oil seal 50x80x10 2 OS55X100X10 oil seal 55x100x10 2
OS40X55X8 oil seal 40x55x8 1 OS45X60X9 oil seal 45x60x9 1 OS45X60X9 oil seal 45x60x9 1
FLP1/4 filler plug 1/4’’ 3 FLP1/4 filler plug 1/4’’ 3 FLP1/4 filler plug 1/4’’ 3
LPL1-4 level plug 1/4’’ 1 LPL1-4 level plug 1/4’’ 1 LPL1-4 level plug 1/4’’ 1
BPL1/4 breather plug 1/4’’ 1 BPL1/4 breather plug 1/4’’ 1 BPL1/4 breather plug 1/4’’ 1
SPR39ST3-2 spacer 1 SPR39ST4-2 spacer 1 SPR39ST5-2 spacer 1
OFL...ES3 output flange 1 OFL...ES4 output flange 1 OFL...ES5 output flange 1
GK44ES3 adapter cover gasket 1 GK44ES4 adapter cover gasket 1 GK44ES5 adapter cover gasket 1
GK45ES3 input cover gasket 1 GK45ES4 input cover gasket 1 GK45ES5 input cover gasket 1
GK49RB25 input flange gasket 1 GK49RB30 input flange gasket 1 GK49RB35 input flange gasket 1

5



42

08

02

46

0445

43

32

11
18

28
03

47

29

22

40

21
16

38

25

23

39

33

27

23

35
12 20

09

37

41 49

3606
31

24

14

05

32

32

17

10 44

13
07

15

19

29

26
01

34

List of components STON 3 reduction stages

6



STON 3 STON 4 STON 5

List of components STON 3 reduction stages

art. code description q.ty code description q.ty code description q.ty

1 HOUST3 housing 1 HOUST4 housing 1 HOUST5 housing 1
2 ISHDM..ID..RB25 input shaft 1 ISHDM..ID..RB30 input shaft 1 ISHDM..ID..RB35 input shaft 1
3 OSHST3 output shaft 1 OSHST4 output shaft 1 OSHST5 output shaft 1
4 ICVES30 input cover 1 ICVES4 input cover 1 ICVES5 input cover 1
5 TCVES3 adapter cover 1 TCVES4 adapter cover 1 TCVES5 adapter cover 1
6 IFL63B5RB25

IFL71B5RB25
IFL8090B5RB25
IFL100112B5RB25

input flange 63B5
input flange 71B5
input flange 80/90B5
input flange 100/112B5

1
IFL71B5RB30/35
IFL80B5RB30/35
IFL100B5RB30/35

input flange 71B5
input flange 80/90B5
input flange100/112B5

1
IFL71B5RB30/35
IFL80B5RB30/35
IFL100B5RB30/35

input flange 71B5
input flange 80/90B5
input flange 100/112B5

1

7 P1Z..D..ID.. pinion first stage 1 P1Z..D..ID.. pinion first stage 1 P1Z..D..ID.. pinion first stage 1
8 G1Z..D..RB25 gear first stage 1 G1Z..D..RB30 gear first stage 1 G1Z..D..RB35 gear first stage 1
9 P2Z..D..RB25 pinion second stage 1 P2Z..D..RB30 pinion second stage 1 P2Z..D..RB35 pinion second stage 1

10 G2Z..D..RB25 gear second stage 1 G2Z..D..RB30 gear second stage 1 G2Z..D..RB35 gear second stage 1
11 P3Z..D..ST3 pinion third stage 1 P3Z..D..ST4 pinion third stage 1 P3Z..D..ST5 pinion third stage 1
12 G3Z..D1..ST3 gear third stage 1 G3Z..D1..ST4 gear third stage 1 G3Z..D1..ST5 gear third stage 1
13
14

BEA6008ZZ bearing 6008ZZ 2 BEA6009ZZ bearing 6009ZZ 2 BEA6009ZZ bearing 6009ZZ 2

15 BEA6002ZZ bearing 6002ZZ 1 BEA6003ZZ bearing 6003ZZ 1 BEA6203ZZ bearing 6203ZZ 1
16 BEA6202ZZ bearing 6202ZZ 1 BEA6003ZZ bearing 6003ZZ 1 BEA6203ZZ bearing 6203ZZ 1
17 BEA6202ZZ bearing 6202ZZ 1 BEA6303ZZ bearing 6303ZZ 1 BEA6304ZZ bearing 6304ZZ 1
18 BEA6302ZZ bearing 6302ZZ 1 BEA6303ZZ bearing 6303ZZ 1 BEA6304ZZ bearing 6304ZZ 1
19 BEA6009ZZ bearing 6009ZZ 1 BEA6010ZZ bearing 6010ZZ 1 BEA6211ZZ bearing 6211ZZ 1
20 BEA6009ZZ bearing 6009ZZ 1 BEA6010ZZ bearing 6010ZZ 1 BEA6211ZZ bearing 6211ZZ 1
21 COVD35 plug seal D35X5 1 COVD35 plug seal D35X5 1 COVD40 plug seal D40X8 1
22 COVD42 plug seal D42X6 1 COVD47 plug seal D47X7 1 COVD52 plug seal D52X7 1
23 OS45X75X8 oil seal 45x75x8 2 OS50X80X10 oil seal 50x80x10 2 OS55X100X10 oil seal 55x100x10 2
24 OS40X55X8 oil seal 40x55x8 1 OS45X60X9 oil seal 45x60x9 1 OS45X60X9 oil seal 45x60x9  1
32 FLP1/4 filler plug 1/4’’ 3 FLP1/4 filler plug 1/4’’ 3 FLP1/4 filler plug 1/4’’ 3
33 LPL1-4 level plug 1/4’’ 1 LPL1-4 level plug 1/4’’ 1 LPL1-4 level plug 1/4’’ 1
34 BPL1/4 breather plug 1/4’’ 1 BPL1/4 breather plug 1/4’’ 1 BPL1/4 breather plug 1/4’’ 1
39 SPR39ST3-3 spacer 1 SPR39ST4-3 spacer 1 SPR39ST5-3 spacer  1
40 OFL...ES3 output flange 1 OFL...ES4 output flange 1 OFL...ES5 output flange 1
44 GK44ES3 adapter cover gasket 1 GK44ES4 adapter cover gasket 1 GK44ES5 adapter cover gasket 1
45 GK45ES3 input cover gasket 1 GK45ES4 input cover gasket 1 GK45ES5 input cover gasket 1
49 GK49RB25 input flange gasket 1 GK49RB30 input flange gasket 1 GK49RB35 input flange gasket 1

7



ST3-3 
70
80 B5
...

  ST33070160805

code sYstem

Plate:

For instance:

1 first 4 digits describe 
 the ston size 
 
 ST3 = ston 3
 ST4 = ston 4
   etc

4 then 3 digits for 
 the mounting type      

 160 =output flange 71B5 Kp=160  
 200 =output flange 80/90B5 Kp=200
 250 =output flange 100/112B5 Kp=250
 
 UNV = without output flange 
 SHR = with shrink disk

5 3 digits for the input flange 
 (that determines the input hole 
 diameter too)      
    
 805 =80B5 
 905 =90B5 
 125 =100-112B5 
 135 =132B5 
      etc 

2 then 1 digit tell 
 the nr of stages
 
 2 =2 stages
 3 =3 stages

3 then 3 digits are 
 the rated ratio
 
 020 =i:20
 120 =i:120
  etc

ston 3

3 stages

ratio i:70

output flange d.160mm

input pam flange 80 B5

8



STON ISO
B3 B6 B7 B8 V5 V6

ST3 1,05 1,10 1,10 0,95 1,25 1,50
VG
220

-25
+80°C

Mobil 
Glygoyle 

30

Shell 
tivela 
S220

ST4 1,90 1,75 1,75 1,65 2,20 2,55

ST5 2,20 2,10 2,10 2 3 3,50

 B3 B8 

 B6 B7

 V5 V6

LUBRICATION

Each STON is supplied with long-life synthetic oil and do not require any maintenance.
The oil quantity is suitable for B3 mounting position     
 

oil (lt)
temp. oil type

After adapting the oil quantity, each STON can be mounted in ANY position, thus 
giving big advantages in the stock management and lead time, thanks to the following 
3 characteristics:

ZZ autolubricating bearings on input and output shaft

5 interchangeable plugs, including one breather plug and a level 
plug. Level and breather plug must be positioned according to 
this chart

mechanical parts locked in their positions by circlips. This also 
ensures better absorbtion of axial thrust and prolongs the life 
of bearings  breather plug level plug filler plug

9



c	

b	

a	

tab. 2

load classification

uneven operation, heavy loads, 
larger masses to be accele-
rated

starting with moderate loads, 
uneven operating conditions, 
medium size masses to be 
accelerated

easy starting, smooth 
operation, small masses be 
accelerated

application

conveyors with violent jerks; compressors ad alternate pumps with 1 or more cylinders; 
machinery for bricks, tiles and clay; kneaders; milling machines; lifting winches with buckets; 
rotting furnaces; heavy fans or mining purposes; mixers for heavy materials; machine-tools; 
planing kinds; alternating saws; shears; tumbling barrels; vibrators; shredders; turntables

belt conveyors with varied load with transfer of bridge trucks for light duty; levelling 
machines; shakers and mixed for liquid with variable density and viscosity; machines for 
the food industry (kneading troughs, mincing machines, slicing machines, etc); sifting 
machines for sand gravel; textile industry machines; cranes, hoists, goodstifts; fertilizer 
scrapers; concrete mixers; folding machines; winches; crane mechanisms

belt conveyors for light material; centrifugal pumps; rotary gear pumps; screw fee-
ders for light materials; lifts; bottling machines; auxiliary controls of tool machines; 
fans; power generators; fillers; small mixers

			 

bearing friction.				  
The efficiency of STON varies with the nr of 
stages: it's 94% when the reduction stages 
are 3, 96% when the stages are 2.
The starting efficiency is always less than 
the efficiency at rated speed			 
		
Gear ratio i
It is the relationship of the input speed 
n1and the output speed n2

i = 	
n1	

	 n2	
In the combined, the total ratio is the 
result of the product of the ratio of the 
two single boxes.

Input speed n1 [rpm]
It is the speed the BOX unit is driven 
at. 

Output speed n2 [rpm]
It is the rotation speed of the output 
shaft. 

Service factor fs
It is a numeric value describing the BOX 
unit service duty. With unavoidable appro-
ximation, it takes into consideration: 

	 the daily working hours h/d 
	 the load classification (see table 2), 
and then the moment of inertia of the 
driven masses. 

	T he number of starts per hour s/h
	T he presence of brake motors, for whi-
ch it is necessary to multiply for 1.12 
the service factor value deducted by 
the graph 2.

	T he significance of the application in 
terms of safety, for example lifting of 
parts

In the graph 2, the service factor fsr 
required by a certain application can be 
attained, after having selected the proper 
“daily working hours” (h/d) column, by in-
tersecting the number of starts per hour 
(s/h) and one of the a, b or c curves. The 
curves a, b and c are linked with the load 
classification described in the table 2. 

Rated output torque Mn2 [Nm]
Torque output transmissible under uni-
form loading and referred to the input 
speed n1 and the corresponding output 
speed n2.
The output torque can be calculated with 
the following formula: 

Mn2 = 	
Pn1 [kW] · 9550  

· η
	

		  n2 	

Torque demand Mr2 [Nm]
Torque calculated based on application 
requirements. It must be ≤ Mn2 of the 
chosen BOX unit.

Input power Pn1 [kW]
This is the power value of the motor ap-
plied to the input shaft and corresponding 
to a certain input speed n1, a service 
factor fs=1 and a duty service S1.
It is even possibile to calculate the motor-
size necessary by using the formula: 

Pn1 [kW] =     
Mr2 · n2	

	      9550  · η	

Since the value calculated in this way 
could not really correspond to an input 
power actually available in the IEC stan-
dardised motors, it will be necessari to 
choose, among the input powers availa-
ble, the one which is immediately higher, 
checking this in the Motive catalogue of 
the motors. 

Efficiency η [%]				  
	
An inherent factor in the selection worm-
gear boxes is the efficiency h, defined as 
the ratio between the mechanical power 
coming out from the output shaft, and 
the power in the input shaft:	 		
		

η = 	Pn2				  
	 Pn1

	
			 
The efficiency in helical gearboxes is 
mainly determined by the gearing and 

If, after the selection of the right Mr2 and 
n2 in the following performance tables, 
you don’t find a STON unit whose ser-
vice factor fs is ≥ of the requested one 
fsr, you can choose a STON unit in which 
Mn2 > Mr2.
In fact, in order to satisfy fsr, you can choo-
se another BOX unit whose output torque 
is ≥ Mc2 output torque, where:
Mc2 = Mr2 ·  fsr
Note: This rule is valid only if the new 
BOX unit that has been selected in this 
way has a service factor fs ≥ 1 in the 
performance tables. 
From another point of view, the value of fs in 
the performance tables refers to a case in 

which the effective torque requested by the 
application Mr2 matches perfectly with the 
one appearing on the catalogue Mn2.
Whenever the torque indicated in the 
performance table is higher than the re-
quested one, the offered service factor of 
the performance table can be increased 
according to the formula: 

fs real = 
fs on the table · Mn2 on the table	

	
		  Mr2	
The value of fs calculated in this way must 
be ≥ fsr.

graph 2

technical data

10



N
m

fs

rp
m

kW

h/d
s/h

Configurator

Configure what you need by this 
automatic consultant, and get CAD 
files and data sheets

Motive configurator allows you to shape 
Motive products, combine them as you 
want, and finally to download 2D/3D CAD 
drawings, and a PDF datasheet.

Search by performance
If you’re not sure about the best 
products combination that you should 
select for your purpose, you can input 
your wishes, like final torque, final speed, 
use, etc, and the configurator will act 
like a consultant.
It will give you a list of applicable product 
configurations; you can then download a 
PDF data sheet featuring performance 
data and dimensional drawings for each 
configuration, as well as 2D and 3D 
drawings.

Search by product
To be used if you already know the 
product configuration that you want, 
and you just want to get quicker a PDF 
data sheet featuring performance data 
and dimensional drawings for 2D and 
3D drawings.

free access without login
http://www.motive.it/configuratore.php

11



STON 3           
(300 nm) input

fs

output input B5 iec 72-1

kW Hp n1 
[rpm]

n2 
[rpm]

m2

[nm]
m2

[Kgm] 63 71 80 90 100/112

115 115,80

0,18 0,25 63B-4 1393 2,19 12,0 134,32 13,69 3
0,18 0,24 80a-8 650 1,13 5,6 287,86 29,34 3
0,13 0,18 71B-8 651 1,56 5,6 207,58 21,16 3
0,25 0,35 71a-4 1366 1,55 11,8 190,25 19,39 3
0,25 0,35 71B-6 910 1,03 7,9 285,58 29,11 3
0,18 0,25 71a-6 921 1,45 8,0 203,16 20,71 3
0,37 0,5 71B-4 1400 1,07 12,1 274,73 28,00 3

110 108,71

0,18 0,25 63B-4 1393 2,41 12,8 126,11 12,85 3
0,25 0,35 71a-4 1366 1,70 12,6 178,61 18,21 3
0,18 0,25 80a-8 650 1,24 6,0 270,25 27,55 3
0,13 0,18 71B-8 651 1,72 6,0 194,88 19,87 3
0,25 0,35 71B-6 910 1,13 8,4 268,11 27,33 3
0,18 0,25 71a-6 921 1,59 8,5 190,73 19,44 3
0,37 0,5 71B-4 1400 1,18 12,9 257,92 26,29 3

100 99,76

0,18 0,25 63B-4 1393 2,33 14,0 115,72 11,80 3
0,18 0,25 80a-8 650 1,19 6,5 248,00 25,28 3
0,13 0,18 71B-8 651 1,66 6,5 178,84 18,23 3
0,25 0,35 71a-4 1366 1,64 13,7 163,90 16,71 3
0,25 0,35 71B-6 910 1,09 9,1 246,04 25,08 3
0,37 0,5 71B-4 1400 1,14 14,0 236,69 24,13 3

90 90,27

0,18 0,25 80a-8 650 1,66 7,2 224,41 22,88 3
0,25 0,35 71B-6 910 1,52 10,1 222,63 22,69 3
0,25 0,35 71a-4 1366 2,29 15,1 148,31 15,12 3
0,37 0,50 71B-4 1400 1,58 15,5 214,17 21,83 3
0,55 0,75 80a-4 1391 1,06 15,4 320,41 32,66 3

75 75,31
0,25 0,35 71a-4 1366 2,39 18,1 123,74 12,61 3
0,37 0,5 71B-4 1400 1,66 18,6 178,68 18,21 3
0,55 0,75 80a-4 1391 1,11 18,5 267,33 27,25 3

70 69,75
0,25 0,35 71a-4 1366 2,76 19,6 114,60 11,68 3
0,37 0,5 71B-4 1400 1,91 20,1 165,49 16,87 3
0,55 0,75 80a-4 1391 1,28 19,9 247,59 25,24 3

65 65,91
0,25 0,35 71a-4 1366 2,75 20,7 108,29 11,04 3
0,37 0,5 71B-4 1400 1,91 21,2 156,38 15,94 3
0,55 0,75 80a-4 1391 1,28 21,1 233,96 23,85 3

55 56,79
0,37 0,5 71B-4 1400 2,51 24,7 134,72 13,73 3
0,55 0,75 80a-4 1450 1,75 25,5 193,36 19,71 3
0,75 1 80B-4 1394 1,23 24,5 274,27 27,96 3

50 49,56
0,37 0,5 71B-4 1366 2,45 27,6 120,52 12,29 3
0,55 0,75 80a-4 1391 1,68 28,1 175,93 17,93 3
0,75 1 80B-4 1394 1,23 28,1 239,39 24,40 3

45 43,65
0,37 0,5 71B-4 1366 2,76 31,3 106,13 10,82 3
0,55 0,75 80a-4 1391 1,89 31,9 154,93 15,79 3
0,75 1,5 80B-4 1394 1,39 31,9 210,81 21,49 3

40 37,20
0,55 0,75 80a-4 1391 2,50 37,4 132,04 13,46 3
0,75 1 80B-4 1394 1,83 37,5 179,67 18,31 3
1,1 1,5 90s-4 1378 1,24 37,0 266,57 27,17 3

35 33,57
0,55 0,75 80a-4 1391 2,37 41,4 119,16 12,15 3
0,75 1 80B-4 1394 1,74 41,5 162,14 16,53 3
1,1 1,5 90s-4 1378 1,17 41,0 240,56 24,52 3

STON 3           
(300 nm) input

fs

output input B5 iec 72-1

kW Hp n1 
[rpm]

n2 
[rpm]

m2

[nm]
m2

[Kgm] 63 71 80 90 100/112

30 28,59
0,55 0,75 80a-4 1391 2,81 48,6 101,49 10,35 3
0,75 1 80B-4 1394 2,07 48,8 138,10 14,08 3
1,1 1,5 90s-4 1378 1,39 48,2 204,89 20,89 3

25 24,96
0,55 0,75 80a-4 1391 3,09 55,7 88,58 9,03 3
0,75 1 80B-4 1394 2,27 55,9 120,54 12,29 3
1,1 1,5 90s-4 1378 1,53 55,2 178,84 18,23 3

20 21,11
0,75 1 80B-4 1450 2,60 68,7 98,03 9,99 3
1,1 1,5 90s-4 1378 1,69 65,3 151,29 15,42 3
1,5 2 90L-4 1413 1,27 66,9 201,20 20,51 3

25 25,09
0,55 0,75 80a-4 1391 2,49 55,4 90,94 9,27 2
0,75 1 80B-4 1394 1,83 55,6 123,75 12,61 2
1,1 1,5 90s-4 1378 1,23 54,9 183,60 18,72 2

20 19,68
0,55 0,75 80a-4 1391 2,79 70,7 71,36 7,27 2
0,75 1 80B-4 1394 2,05 70,8 97,09 9,90 2
1,1 1,5 90s-4 1378 1,38 70,0 144,06 14,68 2

15 15,54
0,75 1 80B-4 1394 2,67 89,7 76,65 7,81 2
1,1 1,5 90s-4 1378 1,80 88,7 113,73 11,59 2
1,5 2 90L-4 1413 1,35 90,9 151,24 15,42 2

13 12,01
0,75 1 80B-4 1394 2,90 116,1 59,23 6,04 2
1,1 1,5 90s-4 1378 1,96 114,8 87,88 8,96 2
1,5 2 90L-4 1413 1,47 117,7 116,87 11,91 2

10 10,48
0,75 1 80B-4 1394 2,90 133,0 51,70 5,27 2
1,1 1,5 90s-4 1378 1,96 131,5 76,71 7,82 2
1,5 1 90L-4 1413 1,47 134,8 102,01 10,40 2

7 6,48

1,1 1,5 90s-4 1378 3,20 212,7 47,42 4,83 2
1,5 2 90L-4 1413 2,41 218,1 63,06 6,43 2
2,2 3 90L-2 2859 3,00 441,3 45,71 4,66 2
2,2 3 100La-4 1435 1,67 221,5 91,07 9,28 2
3 4 100L-2 2882 2,22 444,8 61,83 6,30 2

5 5,04

1,1 1,5 90s-4 1378 3,20 273,5 36,87 3,76 2
1,5 2 90L-4 1413 2,41 280,5 49,03 5,00 2
2,2 3 90L-2 2859 3,00 567,5 35,54 3,62 2
2,2 3 100La-4 1435 1,67 284,9 70,80 7,22 2
3 4 100L-2 2882 2,22 572,1 48,07 4,90 2
4 5 112m-2 2887 1,67 573,1 63,99 6,52 2

4 4,13

1,1 1,5 90s-4 1378 3,43 333,6 30,23 3,08 2
1,5 2 90L-4 1413 2,58 342,1 40,20 4,10 2
2,2 3 90L-2 2859 3,22 692,2 29,14 2,97 2
2,2 3 100La-4 1435 1,79 347,4 58,06 5,92 2
3 4 100L-2 2882 2,38 697,7 39,42 4,02 2
4 5,5 112m-2 2887 1,79 699,0 52,47 5,35 2

performance taBLe

ratio i:
rated

ratio i:
rated

ratio i:
real

ratio i:
realmotor motorstage stage

12



STON 4
(450 Nm) INPUT

fs

OUTPUT INPUT B5 IEC 72-1

kW Hp n1 
[rpm]

n2 
[rpm]

M2

[Nm]
M2

[Kgm] 63 71 80 90 100/112

120 118,81

0,13 0,18 71B-8 651 1,97 5,5 212,98 21,71 3
0,18 0,25 80A-8 650 1,42 5,5 295,34 30,11 3
0,18 0,25 71A-6 921 2,02 7,8 208,44 21,25 3
0,25 0,35 71B-6 910 1,41 7,7 293,00 29,87 3
0,25 0,35 71A-4 1366 2,15 11,5 195,19 19,90 3
0,37 0,5 71B-4 1450 1,43 12,2 272,15 27,74 3

110 106,41

0,13 0,18 71B-8 651 2,17 6,1 190,75 19,44 3
0,18 0,25 80A-8 650 1,42 6,1 264,52 26,96 3
0,18 0,25 71A-6 921 2,02 8,7 186,69 19,03 3
0,25 0,35 71B-6 910 1,41 8,6 262,43 26,75 3
0,25 0,35 71A-4 1366 2,15 12,8 174,82 17,82 3
0,37 0,5 71B-4 1450 1,43 13,6 243,75 24,85 3

100 98,61

0,18 0,25 71A-6 921 2,01 9,3 173,01 17,64 3
0,25 0,35 71A-4 1366 2,15 13,9 162,01 16,51 3
0,37 0,5 71B-4 1400 1,49 14,2 233,95 23,85 3
0,55 0,75 80A-4 1391 1,28 14,1 350,01 35,68 3

90 87,80

0,18 0,25 71A-6 921 2,92 10,5 154,05 15,70 3
0,25 0,35 71A-4 1366 3,12 15,6 144,26 14,70 3
0,37 0,5 71B-4 1400 2,16 15,9 208,31 21,23 3
0,55 0,75 80A-4 1450 1,36 16,5 298,98 30,48 3

80 81,08
0,25 0,35 71A-4 1366 3,06 16,8 133,22 13,58 3
0,37 0,5 71B-4 1400 2,12 17,3 192,37 19,61 3
0,55 0,74 80A-4 1391 1,41 17,2 287,81 29,34 3

70 69,57
0,37 0,5 71B-4 1400 2,45 20,1 165,05 16,82 3
0,55 0,75 80A-4 1391 1,64 20,0 246,93 25,17 3
0,75 1 80B-4 1394 1,39 20,0 336,00 34,25 3

60 57,89
0,37 0,5 71B-4 1400 3,40 24,2 137,35 14,00 3
0,55 0,75 80A-4 1391 2,27 24,0 205,49 20,95 3
0,75 1 80B-4 1394 1,25 24,1 279,61 28,50 3

55 53,46
0,37 0,5 71B-4 1400 2,76 26,2 126,84 12,93 3
0,55 0,75 80A-4 1391 1,84 26,0 189,76 19,34 3
0,75 1 80B-4 1394 1,29 26,1 258,21 26,32 3

50 49,50
0,37 0,5 71B-4 1400 2,84 28,3 117,43 11,97 3
0,55 0,75 80A-4 1391 1,90 28,1 175,69 17,91 3
0,75 1 80B-4 1394 1,33 28,2 239,06 24,37 3

45 45,87
0,37 0,50 71B-4 1400 2,92 30,5 108,82 11,09 3
0,55 0,74 80A-4 1391 1,95 30,3 162,81 16,60 3
0,75 1 80B-4 1394 1,33 30,4 221,54 22,58 3

40 38,15
0,37 0,5 71B-4 1400 3,25 36,7 90,51 9,23 3
0,55 0,75 80A-4 1391 2,18 36,5 135,42 13,80 3
0,75 1 80B-4 1394 1,29 36,5 184,26 18,78 3

35 34,81
0,37 0,5 71B-4 1400 2,63 40,2 82,59 8,42 3
0,55 0,75 80A-4 1391 1,76 40,0 123,56 12,60 3
0,75 1 80B-4 1394 1,29 40,0 168,13 17,14 3

30 29,58
0,55 0,75 80A-4 1391 2,05 47,0 104,98 10,70 3
0,75 1 80B-4 1394 1,50 47,1 142,85 14,56 3
1,1 1,5 90S-4 1378 1,57 46,6 211,94 21,60 3

STON 4
(450 Nm) INPUT

fs

OUTPUT INPUT B5 IEC 72-1

kW Hp n1 
[rpm]

n2 
[rpm]

M2

[Nm]
M2

[Kgm] 63 71 80 90 100/112

25 25,98
0,55 0,75 80A-4 1391 3,17 53,5 92,23 9,60 3
0,75 1 80B-4 1394 2,33 53,6 125,50 12,79 3
1,1 1,5 90S-4 1450 1,65 55,8 176,95 18,04 3

20 19,61
0,55 0,75 80A-4 1391 3,17 70,9 69,61 7,10 3
0,75 1 80B-4 1394 2,33 71,1 94,71 9,65 3
1,1 1,5 90S-4 1378 1,57 70,3 140,52 14,32 3

23 22,75
0,75 1 80B-4 1394 2,65 61,3 112,22 11,44 2
1,1 1,5 90S-4 1450 1,88 63,7 158,23 16,13 2
1,5 2 90L-4 1413 1,34 62,1 221,41 22,57 2

20 20,38
0,75 1 80B-4 1394 2,65 68,4 100,51 10,25 2
1,1 1,5 90S-4 1450 1,88 71,2 141,72 14,45 2
1,5 2 90L-4 1413 1,34 69,3 198,31 20,22 2

18 18,16
1,1 1,5 90S-4 1450 2,75 79,9 126,29 12,87 2
1,5 2 90L-4 1413 1,96 77,8 176,72 18,01 2
2,2 3 100LA-4 1435 1,36 79,0 255,22 26,02 2

15 14,29
1,1 1,5 90S-4 1450 2,97 101,5 99,37 10,13 2
1,5 2 90L-4 1413 2,12 98,9 139,06 14,17 2
2,2 3 100LA-4 1435 1,47 100,4 200,82 20,47 2

10 9,97
1,5 2 90L-4 1413 3,03 141,7 97,07 9,90 2
2,2 3 100LA-4 1435 2,10 143,9 140,19 14,29 2
3 4 100LB-4 1407 1,51 141,1 194,98 19,88 2

7 6,60

1,5 2 90L-4 1413 3,20 214,2 64,20 6,54 2
2,2 3 100LA-4 1435 2,21 217,6 92,71 9,45 2
3 4 100LB-4 1407 1,59 213,3 128,94 13,14 2
3 4 100L-2 2882 2,87 436,9 62,95 6,42 2
4 5 112M-2 2887 2,15 437,7 83,79 8,54 2

5 5,87

1,5 2 90L-4 1413 2,81 240,6 57,16 5,83 2
2,2 3 100LA-4 1435 1,95 244,3 82,55 8,42 2
3 4 100LB-4 1407 1,40 239,6 114,81 11,70 2
3 4 100L-2 2882 2,87 490,7 56,05 5,71 2
4 5 112M-2 2887 2,15 491,5 74,61 7,61 2

4 3,88

2,2 3 100LA-4 1435 1,95 369,5 54,59 5,56 2
3 4 100LB-4 1407 1,40 362,3 75,92 7,74 2
4 5,5 112M-4 1415 1,06 364,3 100,66 10,26 2
3 4 100L-2 2882 2,87 742,0 37,07 3,78 2
4 5 112M-2 2887 2,15 743,3 49,33 5,03 2

5,5 7,5 112MB-2 2883 1,56 742,3 67,93 6,92 2

PERFORMANCE TABLE

ratio i:
rated

ratio i:
rated

ratio i:
real

ratio i:
realmotor motorstage stage

13



STON 5  
(700Nm) INPUT

fs

OUTPUT INPUT B5 IEC 72-1

kW Hp n1 
[rpm]

n2 
[rpm]

M2

[Nm]
M2

[Kgm] 63 71 80 90 100/112

120 117,93

0,37 0,5 90S-8 670 1,61 5,7 584,64 59,60 3
0,55 0,75 80B-6 917 1,43 7,8 634,97 64,73 3
0,75 1 80B-4 1394 1,24 11,8 569,59 58,06 3
0,25 0,35 80B-8 691 2,45 5,9 383,02 39,04 3
0,37 0,5 80A-6 928 2,16 7,9 422,10 43,03 3
0,55 0,75 80A-4 1391 1,68 11,8 418,60 42,67 3
0,37 0,5 71B-4 1400 2,52 11,9 279,79 28,52 3

110 101,08

0,37 0,5 90S-8 670 1,34 6,6 501,12 51,08 3
0,55 0,75 80B-6 917 1,27 9,1 544,26 55,48 3
0,75 1 80B-4 1394 1,29 13,8 488,22 49,77 3
0,25 0,35 80B-8 691 2,04 6,8 328,30 33,47 3
0,37 0,5 80A-6 928 1,91 9,2 361,80 36,88 3
0,55 0,75 80A-4 1391 1,76 13,8 358,80 36,57 3
0,37 0,5 71B-4 1400 2,63 13,8 239,82 24,45 3

100 98,70

0,75 1 80B-4 1394 1,24 14,1 476,70 48,59 3
0,55 0,75 80A-4 1391 1,69 14,1 350,34 35,71 3
0,37 0,5 71B-4 1400 2,53 14,2 234,17 23,87 3
0,37 0,5 90S-8 670 1,33 6,8 489,30 49,88 3
0,55 0,75 80B-6 917 1,11 9,3 531,42 54,17 3

90 84,60
1,1 1,5 90S-4 1378 1,21 16,3 606,24 61,80 3
0,75 1 80B-4 1394 1,79 16,5 408,60 41,65 3
0,55 0,75 80A-4 1391 2,43 16,4 300,29 30,61 3

80 79,76
1,1 1,5 90S-4 1378 1,17 17,3 571,54 58,26 3
0,75 1 80B-4 1394 1,73 17,5 385,21 39,27 3
0,55 0,75 80A-4 1391 2,35 17,4 283,10 28,86 3

70 68,36
1,1 1,5 90S-4 1378 1,29 20,2 489,89 49,94 3
0,75 1 80B-4 1394 1,92 20,4 330,18 33,66 3
0,55 0,75 80A-4 1391 2,61 20,3 242,66 24,74 3

60 58,67
1,1 1,5 90S-4 1378 1,17 23,5 420,40 42,85 3
0,75 1 80B-4 1394 1,73 23,8 283,35 28,88 3
0,55 0,75 80A-4 1391 2,35 23,7 208,24 21,23 3

55 55,55
1,5 2 90L-4 1413 1,30 25,4 529,33 53,96 3
1,1 1,5 90S-4 1378 1,73 24,8 398,04 40,57 3
0,75 1 80B-4 1394 2,57 25,1 268,27 27,35 3

50 50,29
1,5 2 90L-4 1413 1,16 28,1 479,21 48,85 3
1,1 1,5 90S-4 1378 1,54 27,4 360,35 36,73 3
0,75 1 80B-4 1394 2,29 27,7 242,87 24,76 3

45 46,07
1,5 2 90L-4 1413 1,38 30,7 439,05 44,75 3
1,1 1,5 90S-4 1378 1,84 29,9 330,14 33,65 3
0,75 1 80B-4 1394 2,73 30,3 222,51 22,68 3

40 40,86
1,5 2 90L-4 1413 1,32 34,6 389,36 39,69 3
1,1 1,5 90S-4 1378 1,75 33,7 292,78 29,85 3
0,75 1 80B-4 1394 2,60 34,1 197,33 20,12 3

35 33,89
2,2 3 100LA-4 1435 1,27 42,3 466,39 47,54 3
1,5 2 90L-4 1413 1,84 41,7 322,95 32,92 3
1,1 1,5 90S-4 1378 2,45 40,7 242,84 24,75 3

30 29,85
2,2 3 100LA-4 1435 1,33 48,1 410,87 41,88 3
1,5 2 90L-4 1413 1,92 47,3 284,50 29,00 3
1,1 1,5 90S-4 1378 2,56 46,2 213,93 21,81 3

STON 5  
(700Nm) INPUT

fs

OUTPUT INPUT B5 IEC 72-1

kW Hp n1 
[rpm]

n2 
[rpm]

M2

[Nm]
M2

[Kgm] 63 71 80 90 100/112

28 27,81
2,2 3 100LA-4 1435 1,28 51,6 382,74 39,02 3
1,5 2 90L-4 1413 1,85 50,8 265,02 27,02 3
1,1 1,5 90S-4 1378 2,46 49,6 199,29 20,31 3

23 23,06
2,2 3 100LA-4 1435 1,28 62,2 317,37 32,35 3
1,5 2 90L-4 1413 1,85 61,3 219,76 22,40 3
1,1 1,5 90S-4 1378 2,46 59,8 165,25 16,84 3

25 25,27
3 4 100LB-4 1407 1,11 55,7 494,00 50,36 2

2,2 3 100LA-4 1435 1,54 56,8 355,20 36,21 2
1,5 2 90L-4 1413 2,23 55,9 245,95 25,07 2

20 17,99
5 6,8 112M-4 1415 1,15 78,7 582,80 59,41 2
3 4 100LB-4 1407 1,91 78,2 351,67 35,85 2

2,2 3 100LA-4 1435 2,66 79,8 252,86 25,78 2

15 15,06
4 5,5 112M-4 1415 1,25 94,0 390,21 39,78 2
3 4 100LB-4 1407 1,65 93,4 294,32 30,00 2

2,2 3 100LA-4 1435 2,30 95,3 211,62 21,57 2

13 12,00
5 6,8 112MB-4 1445 1,29 120,4 380,59 38,80 2
4 5,5 112M-4 1415 1,58 117,9 310,93 31,70 2
3 4 100LB-4 1407 2,10 117,3 234,52 23,91 2

10 10,04
5 6,8 112MB-4 1445 1,45 143,9 318,53 32,47 2
4 5,5 112M-4 1415 1,77 140,9 260,23 26,53 2
3 4 100LB-4 1407 2,35 140,1 196,28 20,01 2

7 7,39
5 6,8 112MB-4 1445 1,45 195,6 234,30 23,88 2
4 5,5 112M-4 1415 1,77 191,6 191,41 19,51 2
3 4 100LB-4 1407 2,35 190,5 144,38 14,72 2

5 5,59

5 6,8 112MB-4 1445 1,24 258,5 177,33 18,08 2
4 5,5 112M-4 1415 1,52 253,1 144,87 14,77 2
3 4 100LB-4 1407 2,01 251,7 109,27 11,14 2
3 4 100L-2 2882 4,12 515,6 53,35 5,44 2
4 5 112M-2 2887 3,10 516,5 71,01 7,24 2

5,5 7,5 112MB-2 2883 2,25 515,7 97,77 9,97 2

4 3,49

5 6,8 112MB-4 1445 1,28 414,0 110,73 11,29 2
4 5,5 112M-4 1415 1,57 405,4 90,46 9,22 2
3 4 100LB-4 1407 2,08 403,1 68,23 6,96 2
3 4 100L-2 2882 4,25 825,6 33,31 3,40 2
4 5 112M-2 2887 3,20 827,2 44,33 4,52 2

5,5 7,5 112MB-2 2883 2,32 826,1 61,04 6,22 2

OUTPUT INPUT B5 IEC 72-1

PERFORMANCE TABLE

ratio i:
rated

ratio i:
rated

ratio i:
real

ratio i:
realmotor motorstage stage

14



KL

KN

KC

K
P

KB
KA

K
K

S

MF kit

PAM MF

1

2

3

4

5

STON OFL KP KM (j6) KN KS KL KA KB KC (0; -0,5)
3 OFL160 160 110 130 M8x30 22 26 10 3,5
4 OFL200 200 130 165 M10x30 20 28 12 3,5
5 OFL250 250 180 215 M12x40 29,5 26,5 12 4

Ston Nm Mm Pm Sm Dm tm bm L L* L1 D1 f b1 t1 M2 L (MF)

3

63 B5 95 115 140
M8

11 12,8 4
177,5 4,5

40 19 M6x16 6 21,5 50

223
71 B5 110 130 160 14 16,3 5

80 B5
130 165 200 M10

19 21,8 6
178,5 5,5 223

90 B5 24 27,3 8

100/112 B5 180 215 250 M12 28 31,3 8 184,5 5,5 229

4

71 B5 110 130 160 M8 14 16,3 5 211,5 5,5

40 19 M6x16 6 21,5 50

256

80 B5
130 165 200 M10

19 21,8 6
220,5 6 264,5

90 B5 24 27,3 8

100/112 B5 180 215 250 M12 28 31,3 8 221,5 6,5 265

5

71 B5 110 130 160 M8 14 16,3 5 226,5 7,5

50 24 M8x25 8 27 60

279

80 B5
130 165 200 M10

19 21,8 6
235,5 6 289,5

90 B5 24 27,3 8

100/112 B5 180 215 250 M12 28 31,3 8 236,5 6,5 290

DIMENSIONS

 motor type

STON input and combinations

output flange

15



STON B2 A2 K 
(Øg7) A A1 O1 L1 B1 B X X2 P1 R1 P2 O1 

(Ø) M N H1 H P O Q
(Ø)

3 31,5 158 80 115 31 M8x15 2,5 23 77 105 66 17° 22 22 14 165 12 250,5 71,5 15° M8x15 94
4 32 170 85 145 43 M10x15 3 31 93 126 80 15° 22 22 14 180 12 294,5 81 15° M10x15 102
5 40,5 198 105 170 55 M12x20 3 33,5 102 137 88 15° 22 22 14 200 14 328 93,5 15° M12x20 125

D1 
(Øk6)

D 
(ØH7)

B0 
(±0,1) T5 T6 T7 V T  

(+0,2;0)
E 

(E9)
45 30 120 15 15 17 ISO 4762 M10x25 33,3 8
50 35 150 18 18 22 ISO 4762 M12x30 38,5 10
55 40 166 24 24 29 ISO 4762 M16x40 43,3 12

STON D2 (ØH6) D3 (ØH6) D4 (Ø) D5 (Øh6) ØD6 (h6) T8 (±0,1) T9 T10 T11 T12
3 30 30 80 30 30 148 20 31 24,2 5,3
4 35 35 90 35 35 179 20 32 26,1 5,3
5 40 40 100 40 40 195 20 26 29 5,3

STON ØT1 ØT2 T3 T4 ΔL
3 40 12,5 5 18 1
4 40 12,5 5 18 1,5
5 40 12,5 5 18 1,5

B2

O1

O1

M
N

P
O

Q

R1

P2

BB1

L1

K
A

2

X

X2

A
A

1

H
1

H

P1

P2

B0

T11

T12

D
2

D
6

D
5

D
3

D
4

T9 T10

T8

STON d (k6) B B1 G1 L f b1 t1
3 25 50 53,5 120 186,5 M10 8 28
3 30 60 63,5 120 198,7 M10 8 33
4 30 60 63,5 150 223 M10 8 33
4 35 70 73,5 150 238,7 M12 10 38
5 35 70 73,5 166 254,5 M12 10 38
5 40 80 83,5 166 264,7 M14 12 43

B0

T5

D
1 D E

T7

V

TT6

DIMENSIONS

foot mounting standard imput shaft

output shaft

shrink disc shaft torque arm

16



final test report gearboxclockwise rotation Watt

G
ea

r-m
ot

or
 W

at
t

Watt 1 Watt 2 Watt 3 Watt 4 Watt 5 Watt 6 Watt 7 Watt 8 Watt 9 Watt 10

            found 850 936 939 939 946 955 955 952 949 938

            limite max 847 935 949 949 945 945 945 956 963 957

0

200

400

600

800

1000

counterclockwise rotation Watt

G
ea

r-m
ot

or
 W

at
t

Watt 1 Watt 2 Watt 3 Watt 4 Watt 5 Watt 6 Watt 7 Watt 8 Watt 9 Watt 10

           found 855 935 927 927 927 927 927 934 949 932

            limite max 857 936 942 948 944 945 941 957 966 966

0

200

400

600

800

1000

oil leakage test by air pressure
test pressure, millibar 1000

test duration, seconds 16
pressure leakage, millibar 0

0

200

400

600

800

1000

1200

test leakage

millibar

rpm n2

1 2 3 4 5 6 7 8 9 10

rpm n2 141,51 138,25 141,51 138,89 139,53 138,89 141,51 138,25 141,51 138,89

119

129

139

149

159

169

179

serial nr: 1212R01412
code: RB252010FSW905description: Robus25-2 i:10 baseSW PAM90B5Final assembly by: OttavianoFinal test by: Ottaviano

1 0

2 1 
3 2 
1 20

2 21 
3 22 

[1] VOLUNTARY TYPE EXAMINATION CERTIFICATE

ATTESTATO VOLONTARIO DI ESAME DEL TIPO

[2] NON ELECTRICAL EQUIPMENT Intended for use in Potentially Explosive Atmospheres - Directive 2014/34/EU-ATEX Statement of

conformity+Annex VIII

APPARECCHIO NON ELETTRICO Inteso per l'uso in Atmosfera Potenzialmente Esplosiva - Direttiva 2014/34/EU-ATEX Statement of conformity+Annex VIII

[3] VOLUNTARY TYPE EXAMINATION CERTIFICATE, ANNEXED TO RECEIPT OF TECHNICAL FILE n.:

ATTESTATO VOLONTARIO DI ESAME DEL TIPO, ALLEGATO ALLA RICEVUTA DEL FASCICOLO TECNICO n.:

AR18ATEX064

[4] NON ELECTRICAL EQUIPMENT:

APPARECCHIO NON ELETTRICO:

Riduttore / Adaptor:

COASSIALE/IN-LINE HELICAL Serie ROBUS 

PENDOLARE/PARALLEL SHAFT Serie STON 

A VITE SENZA FINE/WORM Serie BOX + PRE-COPPIA/STAGES STADIO 

ORTOGONALE/HELICAL BEVEL Serie ENDURO

[5] MANUFACTURER:

COSTRUTTORE:

Motive srl

[6] ADDRESS:
INDIRIZZO:

Via Le Ghiselle, 20

25014  Castenedolo  (BS) - ITALY

[7] This NON ELECTRICAL EQUIPMENT and any variation is specified in the schedule to this certificate and the documents therein

referred to.
Questo APPARECCHIO NON ELETTRICO e le varianti sono descritte nell'allegato al presente certificato e nei documenti ivi richiamati.

[8] Albarubens srl, Notified Body No. 2632, in accordance with Article 17 of the Directive 2014/34/EU-ATEX of the European Parliament

and of the Council, dated 26 February 2014, certifies that this NON ELECTRICAL EQUIPMENT has been found to comply with the

Essential Health and Safety Requirements relating to the design and construction of products intended for use in potentially

explosive atmospheres given in Annex II to the Directive. 

The examination and test results are recorded in confidential report MOD 7.4.1 - ID: 3129

Albarubens srl, Organismo Notificato n. 2632, in conformità all'art. 17 della Direttiva 2014/34/UE-ATEX del Parlamento Europeo e del Consiglio, datata 26 Febbraio 2014, certifica che questo

APPARECCHIO NON ELETTRICO è conforme ai Requisiti Essenziali di Sicurezza e Salute per il progetto e la fabbricazione di prodotti destinati ad essere utilizzati in atmosfere potenzialmente

esplosive, definiti nell'Allegato II della Direttiva. I risultati dell'esame e dei test sono descritti nel rapporto confidenziale MOD 7.4.1 - ID: 3129

[9] Compliance with the Essential Health and Safety Requirements has been assured by compliance with the technical standards:

La conformità ai Requisiti Essenziali di Sicurezza e Salute è assicurata dalla conformità alle norme tecniche:

EN 13463-1:2009 - EN 13463-5:2011 - EN 1127-1:2011

except in respect of those requirements listed at item 18 of the Schedule.

tranne nel caso dei requisiti elencati al punto 18 dell'Allegato.

[10] If the symbol 'X' is placed after the certificate number, it indicates that the NON ELECTRICAL EQUIPMENT is subject to the Specific

Conditions of Use specified in the next chapter 17.

Il simbolo 'X', se presente dopo il numero di certificato, indica che questo APPARECCHIO NON ELETTRICO è soggetto a Condizioni Speciali per l'Uso, specificate nel seguente punto 17.

[11] This VOLUNTARY TYPE EXAMINATION CERTIFICATE relates only to the design and construction of the specified NON ELECTRICAL

EQUIPMENT. Further requirements of the Directive apply to the manufacturing process and supply of product.

These are not covered by this certificate.

Questo ATTESTATO VOLONTARIO DI ESAME DEL TIPO è relativo soltanto al progetto ed alla costruzione di questo APPARECCHIO NON ELETTRICO.

Ulteriori requisiti di questa Direttiva si applicano al processo di fabbricazione e fornitura di questo prodotto. Questi requisiti non sono oggetto del presente certificato.

[12] The marking of the NON ELECTRICAL EQUIPMENT shall include the following:

Questo APPARECCHIO NON ELETTRICO deve riportare i seguenti contrassegni: Tamb=-20
 +40 °C

II 2G c 
IIB T4 

II 2D c 
IIIB T13

5°C

Saronno (Italy), 30 May 2018

ALBARUBENS srl

Digital signature
The legal representative: ing. Giuseppe Terzaghi

Verify the authenticity of this certificate on the website: https://www.albarubens.it/authentication.php (Password: 3IXC2M)

page 1/2

Albarubens srl - Via G. Ferrari 21/N - 21047 Saronno (VA) - Italy - Reg. VA-286283 - Tax code IT 02767050129 - Paid-up capital €100.000,00

www.albarubens.it - info@albarubens.it - tel: +39 02 96248530 - fax: +39 02 700523656 - Document automatically generated by the Albarubens WebApp rev. 1.74 

II 2G c IIB T4
II 2D c IIIB T135°C

serie STON EX

You can download 
each motor or 

gearbox final test 
report from 

www.motive.it, 
starting from its 

serial number

ALL DATA HAVE BEEN WRITTEN AND CHECKED WITH THE
GREATEST CARE. WE DO NOT TAKE ANY RESPONSIBILITY FOR POSSIBLE 

ERRORS OR OMISSIONS. MOTIVE CAN CHANGE THE CHARACTERISTIC OF THE 
SOLD ITEMS ON HIS FIRM OPINION AND IN EVERY MOMENT.

download 
the technical manual 

from www.motive.it

Cat DUST GAS Zone description motive 
gearboxes

A place in which an explosive atmosphere consisting of a mixture with 
air of flammable substances in the form of gas, vapor or mist is present 
continuously or for long periods or frequently.

A place in which an explosive atmosphere consisting of a mixture with air or 
flammable substances in the form of gas, vapor or mist is likely to occur in 
normal operation occasionally.

A place in which an explosive atmosphere consisting of a mixture with air of 
flammable substances in the form of gas, vapor or mist is not likely to occur 
in normal operation but, if it does occur, will persist for a short period only.

A place in which an explosive atmosphere in the form of a cloud of 
combustible dust in air is present continuously, or for long periods or 
frequently.

A place in which an explosive atmosphere in the form of a cloud of 
combustible dust in air is likely to occur in normal operation occasionally.

A place in which an explosive atmosphere in the form of a cloud of 
combustible dust in air is not likely to occur in normal operation but, if it 
does occur, will persist for a short period only.

ATEX is the conventional name of the Directive 14/34/EC 
for the equipment intended for use in potentially explosive 
atmospheres.
It imposes the evaluation of the risk for all the equipment 
operating in such environments.
It classifies several levels of "danger" (zones): to every zone 
it corresponds a different typology of explosive atmosphere, 
according to its composition and to its probability and time 
of appearance.
 
Motive gearboxes series BOX Ex, STADIO Ex, STON Ex, 
ROBUS Ex and ENDURO Ex are certified according to the 
norms EN 13463-1, EN 13463-5, EN 1127-1 for the zones 
1, 21, 2 and 22



Motive s.r.l.

Via Le Ghiselle, 20

25014 Castenedolo (BS) - Italy

Tel.: +39.030.2677087 - Fax: +39.030.2677125

web site: www.motive.it

e-mail: motive@motive.it

LO
O

K
S

 G
O
O
D, PERFORMS BETTE

R 

G E N E R A L  C
G E N E R A L  C
G E N E R A L  C
G E N E R A L  C
G E N E R A L  C
G E N E R A L  C A T A L O G U E

A T A L O G U E
A T A L O G U E

S
TO

N
 T

E
C

H
N

IC
A

L 
C
AT

A
LO

G
U

E
 E

N
G

 L
U

G
 1

5
 R

E
V.

0
2

AREA DISTRIBUTOR

ASK OUR FURTHER CATALOGUES:

BOX SERIES WORMGEAR UNITS

BOX SERIES WORMGEAR UNITS

BOX SERIES WORMGEAR UNITS

G E N E R A L  C
G E N E R A L  C
G E N E R A L  C
G E N E R A L  C
G E N E R A L  C
G E N E R A L  C
G E N E R A L  C
G E N E R A L  C
G E N E R A L  C
G E N E R A L  C
G E N E R A L  C
G E N E R A L  C

DELPHI SERIES DELPHI SERIES DELPHI SERIES ASYNCHRONOUS ASYNCHRONOUS ASYNCHRONOUS ASYNCHRONOUS ASYNCHRONOUS ASYNCHRONOUS ASYNCHRONOUS ASYNCHRONOUS ASYNCHRONOUS ASYNCHRONOUS ASYNCHRONOUS ASYNCHRONOUS ASYNCHRONOUS ASYNCHRONOUS ASYNCHRONOUS 

THREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELECTRIC MOTORSECTRIC MOTORSECTRIC MOTORSECTRIC MOTORSECTRIC MOTORSECTRIC MOTORSECTRIC MOTORSECTRIC MOTORSECTRIC MOTORSECTRIC MOTORSECTRIC MOTORSECTRIC MOTORSECTRIC MOTORSECTRIC MOTORSECTRIC MOTORSDELPHI SERIES DELPHI SERIES DELPHI SERIES DELPHI SERIES DELPHI SERIES DELPHI SERIES 
THREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELDELPHI SERIES DELPHI SERIES DELPHI SERIES DELPHI SERIES DELPHI SERIES DELPHI SERIES 
THREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELDELPHI SERIES DELPHI SERIES DELPHI SERIES DELPHI SERIES DELPHI SERIES DELPHI SERIES 
THREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELTHREE-PHASE EL

VARIABLE SPEED D
VARIABLE SPEED D
VARIABLE SPEED D
VARIABLE SPEED D
VARIABLE SPEED D
VARIABLE SPEED D
VARIABLE SPEED D
VARIABLE SPEED D
VARIABLE SPEED D
VARIABLE SPEED D
VARIABLE SPEED D
VARIABLE SPEED D
VARIABLE SPEED D
VARIABLE SPEED D
VARIABLE SPEED D
VARIABLE SPEED D
VARIABLE SPEED D
VARIABLE SPEED D
VARIABLE SPEED D
VARIABLE SPEED D
VARIABLE SPEED D
VARIABLE SPEED D
VARIABLE SPEED D
VARIABLE SPEED D
VARIABLE SPEED D
VARIABLE SPEED D
VARIABLE SPEED D
VARIABLE SPEED D
VARIABLE SPEED D
VARIABLE SPEED D
VARIABLE SPEED D
VARIABLE SPEED D
VARIABLE SPEED D
VARIABLE SPEED D
VARIABLE SPEED D
VARIABLE SPEED D
VARIABLE SPEED D
VARIABLE SPEED D
VARIABLE SPEED D
VARIABLE SPEED D
VARIABLE SPEED D
VARIABLE SPEED D
VARIABLE SPEED D
VARIABLE SPEED D
VARIABLE SPEED DRIVE NEO-WRIVE NEO-WRIVE NEO-WRIVE NEO-WRIVE NEO-WRIVE NEO-WRIVE NEO-WRIVE NEO-WRIVE NEO-WRIVE NEO-WRIVE NEO-WRIVE NEO-WRIVE NEO-WRIVE NEO-WRIVE NEO-WRIVE NEO-WRIVE NEO-WRIVE NEO-WRIVE NEO-WRIVE NEO-WRIVE NEO-WRIVE NEO-WRIVE NEO-WRIVE NEO-WRIVE NEO-WRIVE NEO-WRIVE NEO-WRIVE NEO-WRIVE NEO-WRIVE NEO-WRIVE NEO-WRIVE NEO-WRIVE NEO-WRIVE NEO-WRIVE NEO-WRIVE NEO-WRIVE NEO-WRIVE NEO-WRIVE NEO-WRIVE NEO-WRIVE NEO-WRIVE NEO-WRIVE NEO-WRIVE NEO-WRIVE NEO-WRIVE NEO-WRIVE NEO-WRIVE NEO-WRIVE NEO-WRIVE NEO-WRIVE NEO-WRIVE NEO-WRIVE NEO-WRIVE NEO-WRIVE NEO-WRIVE NEO-WRIVE NEO-WRIVE NEO-WRIVE NEO-WRIVE NEO-WTHREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELITHREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELITHREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELITHREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELIII

DELPHI SERIES DELPHI SERIES DELPHI SERIES 
I
DELPHI SERIES DELPHI SERIES DELPHI SERIES 
I
DELPHI SERIES DELPHI SERIES DELPHI SERIES 
I
DELPHI SERIES DELPHI SERIES DELPHI SERIES 
THREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELITHREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELITHREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELITHREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELITHREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELITHREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELITHREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELITHREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELITHREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELITHREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELFTHREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELFTHREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELFTHREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELFFFTHREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELFTHREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELFTHREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELFTHREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELFTHREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELFTHREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELFTHREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELFTHREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELFTHREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELFTHREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELITHREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELITHREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELITHREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELIIITHREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELITHREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELITHREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELITHREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELITHREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELITHREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELITHREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELITHREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELITHREE-PHASE ELTHREE-PHASE ELTHREE-PHASE ELITHREE-PHASE ELTHREE-PHASE ELTHREE-PHASE EL

ROBUS in-line h
ROBUS in-line h
ROBUS in-line h
ROBUS in-line h
ROBUS in-line h
ROBUS in-line h
ROBUS in-line h
ROBUS in-line h
ROBUS in-line h
ROBUS in-line h
ROBUS in-line h
ROBUS in-line helical gea

elical gea
elical gea
elical gea
elical gea
elical gea
elical gea
elical gea
elical gea
elical gea
elical gea
elical gea
elical gea
elical gea
elical gea
elical gea
elical gea
elical gea
elical gea
elical gea
elical gea
elical gea
elical gea
elical gea
elical gea
elical gea
elical gea
elical gea
elical gea
elical gea
elical gea
elical gea
elical gea
elical gea
elical gea
elical geaRBORBORBORBORBORBORBORBORBORBORBORBORBORBORBORBORBORBORBORBORBORBORBORBORBORBORBORBORBORBORBORBORBORBORBORBORBORBORBOxxxxxxxxx

ENDURO  BEVEL  H
ENDURO  BEVEL  H
ENDURO  BEVEL  H
ENDURO  BEVEL  H
ENDURO  BEVEL  H
ENDURO  BEVEL  H
ENDURO  BEVEL  H
ENDURO  BEVEL  H
ENDURO  BEVEL  H
ENDURO  BEVEL  H
ENDURO  BEVEL  H
ENDURO  BEVEL  H
ENDURO  BEVEL  H
ENDURO  BEVEL  H
ENDURO  BEVEL  H
ENDURO  BEVEL  H
ENDURO  BEVEL  H
ENDURO  BEVEL  H
ENDURO  BEVEL  H
ENDURO  BEVEL  H
ENDURO  BEVEL  H
ENDURO  BEVEL  H
ENDURO  BEVEL  H
ENDURO  BEVEL  H
ENDURO  BEVEL  H
ENDURO  BEVEL  H
ENDURO  BEVEL  H
ENDURO  BEVEL  H
ENDURO  BEVEL  H
ENDURO  BEVEL  H
ENDURO  BEVEL  H
ENDURO  BEVEL  H
ENDURO  BEVEL  H
ENDURO  BEVEL  H
ENDURO  BEVEL  H
ENDURO  BEVEL  H
ENDURO  BEVEL  H
ENDURO  BEVEL  H
ENDURO  BEVEL  HELICAL GEARBOX

ELICAL GEARBOX
ELICAL GEARBOX
ELICAL GEARBOX
ELICAL GEARBOX
ELICAL GEARBOX
ELICAL GEARBOX
ELICAL GEARBOX
ELICAL GEARBOX
ELICAL GEARBOX
ELICAL GEARBOX
ELICAL GEARBOX
ELICAL GEARBOX
ELICAL GEARBOX
ELICAL GEARBOX
ELICAL GEARBOX
ELICAL GEARBOX
ELICAL GEARBOX
ELICAL GEARBOX
ELICAL GEARBOX
ELICAL GEARBOX
ELICAL GEARBOX
ELICAL GEARBOX
ELICAL GEARBOX
ELICAL GEARBOX
ELICAL GEARBOX
ELICAL GEARBOX




